Ratio

nal vs irrational number system

A fraction with a denominator
of 0 is undefined because you
cannot divide by zero. So it is
not a number at all.
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Write all classifications that apply to each number.
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whole, integer, rational, real

B. -35.9 =35.9is a terminating decimal.
rational, real
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whole, integer, rational, real

} Rational and Irrational Numbers

State whether each of the following are rational or |r'r'atlonal
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B. -12.75
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Additional Example 1: Classifying Real Numbers
Write all classifications that apply to each humber

5is a whole number that is
not a perfect square.

irrational, real

-12.75 is a terminating decimal.
rational, real
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Additi 2: ining the _Classification of All
State if each number is rational, irrational, or not a real
number.
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irrational
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not a real number

} Rational and Irrational Numbers

State whether each of the following are rational or irrational.
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Based on the above information, conjecture which of the
statements ALWAYS true, which is SOMETIMES true, and
which is NEVER true? Explain.

a) The product of a rational # and a rationa! # is rational.
/‘)/t«)ay) Hin b/(L ex., 2<2=9 L’J'B

b) The product of a rational # and an irrational # is

irrational. /4 (Lua% ~ue Q/C_‘Qy Iz (5) =3

c) The Product of an irrational # and an irrational #is
irrational. Sy meh'me ble. Nz-Vz =2
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